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7HULPD�NDLK�VD\D�SDQMDWNDQ�NHSDGD�$OODK�6:7�\DQJ WHODK�PHPEHULNDQ�UDKPDW�

GDQ�KLGD\DK�1\D�XQWXN�PHQ\HOHVDLNDQ�ODSRUDQ�7XJDV�$NKLU�LQL�

7HULPD�NDVLK�NHSDGD�NHGXD�RUDQJ�WXD�VD\D \DQJ�WHUFLQWD�NDUHQD�\DQJ�VHODOX�

PHPEHULNDQ�GRD��GDQ�GXNXQJDQ EHUXSD�PRUDO�PDXSXQ�PRULO�

7HULPD�NDVLK�NHSDGD�0DV�+DNDV�3UD\XGD�GDQ�0EDN�)DQQ\�0RQLND�\DQJ�WHODK�

PHPELPELQJ�VD\D�GDODP�SHPEXDWDQ�ODSRUDQ�7XJDV�$NKLU�GDQ�PHPEHULNDQ�

EDQ\DN�LOPX�\DQJ�EHUPDQIDDW�

7HULPD�NDVLK�NHSDGD�WLP�SHQHOLWLDQ��'LPDV�,UIDQL��%DJDV�&KULVPD�3ULPDG\��

$JXQJ�3UDERZR��5RKPDW�'ZL�&DK\R��GDQ�'L\DW�$GL�0XOLDZDQ��\DQJ�PDX�

EHUMXDQJ�EHUVDPD�GDODP�PH\HOHVDLNDQ�ODSRUDQ�7XJDV�$NKLU�LQL�

7HULPD�NDVLK�XQWXN�.RQWUDNDQ�/HODNL��'LPDV�,UIDQL��$GLW\DV�5H]D�7KDQWDZL��

7D]OLPDQ��*DOLK�6HSWLDQ�$EGL�0XO\D��GDQ�'L\DW�$GL�0XOLDZDQ��\DQJ�WHODK�

PHPEHULNDQ�VHPDQJDW�GDQ�NHVHQDQJDQ�

7HULPD�NDVLK�MXJD�NHSDGD�SLKDN�SLKDN�\DQJ�LNXW�EHUSHUDQ�GDODP�PHQ\HOHVDLNDQ�

ODSRUDQ�WXJDV�DNKLU�LQL��6HPRJD�$OODK�6:<�PHPEHULNDQ�EDODVDQ�\DQJ�OHELK�EDLN��
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$VVDODPX¶DODLNXP�ZDUDKPDWXOODKL�ZDEDUDNDWXK

3XML�V\XNXU�NHKDGLUDW�$OODK�6:7�<DQJ�0DKD�0HQGHQJDU�ODJL�0DKD�0HOLKDW�

DWDV� VHJDOD� OLPSDKDQ� UDKPDW�� WDXILN�� VHUWD KLGD\DK�1\D� \DQJ� WHODK� GLEHULNDQ��

6KDODZDW�GDQ�VDODP�VHPRJD�VHQDQWLDVD�WHUFXUDKNDQ�NHSDGD�1DEL�%HVDU�0XKDPPDG�

6$:�EHVHUWD�VHOXUXK�NHOXDUJD�GDQ�VDKDEDWQ\D�

3HQ\XVXQDQ� ODSRUDQ� WXJDV� DNKLU� LQL� PHUXSDNDQ� VDODK� VDWX� V\DUDW� XQWXN�

PHPSHUROHK� JHODU� 6DUMDQD� 7HNQLN� SDGD� -XUXVDQ� 7HNQLN� 6LSLO� )DNXOWDV� 7HNQLN�

8QYHUVLWDV�0XKDPPDGL\DK�<RJ\DNDUWD�

'DODP� SHQ\XVXQDQ� ODSRUDQ� WXJDV� DNKLU� LQL�� EDQ\DN� SLKDN� \DQJ� WHODK�

PHPEHULNDQ�GXNXQJDQ�EDLN�PRULO�PDXSXQ�PDWHULO��2OHK�VHEDE� LWX��SHQXOLV� LQJLQ�

PHQ\DPSDLNDQ�XFDSD�EDQ\DN�WHULPD�NDVLK�NHSDGD�

�� 3URI��$JXV�6HW\R�0XQWRKDU��6�7���0�(QJ�6F��3K�'��VHEDJDL�NHWXD�3URJUDP�

6WXGL�7HNQLN�6LSLO�8QLYHUVLWDV�0XKDPPDGL\DK�<RJ\DNDUWD�

�� +DNDV�3UD\XGD��6�7���0�(QJ��GDQ�)DQQL\�0RQLND��6�7���0�(QJ��VHEDJDL�

GRVHQ�SHPELPELQJ�WXJDV�DNKLU�\DQJ�WHODK�PHPELPELQJ�GDODP�SHQ\XVXQDQ�

ODSRUDQ�WXJDV�DNKLU�

�� 6HFDUD�NKXVXV�SHQXOLV�LQJLQ�PHQJXFDSNDQ�WHULPD�NDVLK�NHSDGD�$\DKDQGD�

\DQJ� SHQXOLV� EDQJJDNDQ� GDQ� ,EXQGDNX� WHUFLQWD� VHUWD� NDNDN� GDQ� DGLNNX�

\DQJ� WHODK�EDQ\DN�PHPEHULNDQ�GXNXQJDQ�GDQ�SHQJRUEDQDQ�EDLN� VHFDUD�

PRULO�PDXSXQ�PDWHULO�VHKRQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�VWXGL�GHQJDQ�

EDLN�

�� 7LP�SHQHOLWLDQ�WXJDV�DNKLU��'LPDV�,UIDQL��%DJDV�&KULVPD�3ULPDG\�$JXQJ�

3UDERZR�� 5RKPDW� 'ZL� &DK\R�� GDQ� 'L\DW� $GL� 0XOLDZDQ� \DQJ� VXGDK�

EHUMXDQJ�EHUVDPD�GDODP�PHQ\HOHVDLNDQ�WXJDV�DNKLU�

�� 8FDSDQ� WHULPD� NDVLK� NHSDGD� VHOXUXK� VDKDEDW� \DQJ� WHODK� EDQ\DN�

PHPEHULNDQ�EDQWXDQ��GRURQJDQ�� VHUWD�PRWLYDVL� VHKLQJJD� WXJDV�DNKLU� LQL�

GDSDW�WHUVHOHVDLNDQ�
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3HQXOLV� PHQ\DGDUL� EDKZD� WXJDV� DNKLU� LQL� PDVLK� MDXK� GDUL� NHVHPSXUQDDQ��

PDND�SHQXOLV�EHUKDUDS�GLEHULNDQ�VDUDQ�GDQ�NULWLN�GHPL�SHQ\HPSXUQDDQ�VHODQMXWQ\D

$NKLUQ\D� KDQ\D� NHSDGD� $OODK� 6:7� NLWD� NHPEDOLNDQ� VHPXD� XUXVDQ� GDQ�

VHPRJD� ODSRUDQ� WXJDV� DNKLU� LQL� GDSDW� PHPEHULNDQ� PDQIDDW� EDJL� VHPXD� RUDQJ��

NKXVXVQ\D�EDJL�SHQXOLV�GDQ�SHPEDFD��

:DOODKX�D¶ODP�EL�6KRZDE�

:DVVDODPX¶DODLNXP�ZDUDKPDWXOODKL�ZDEDUDNDWXK�

<RJ\DNDUWD�����$JXVWXV ����

3HQXOLV
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